
𝑣𝑝 =
𝑠

𝑡
 𝑎𝑝 =

∆𝑣

∆𝑡
   

𝑣 = 𝑣0 ± 𝑎. 𝑡  𝑠 = 𝑣0. 𝑡 ±
1

2
𝑎. 𝑡2 

𝐹 = 𝑚. 𝑎  ∑ 𝐹⃗ = 𝑚. 𝑎⃗  𝐹 =
𝛥𝑝

𝛥𝑡
  𝑝 = 𝑚. 𝑣   

𝐹𝑡 = 𝑓. 𝐹𝑛 vodorovná podložka  𝐹𝑡 = 𝑓. 𝑚. 𝑔 

W = F.s  𝑃 =
𝑊

𝑡
 

  

𝐸 = 𝐸𝑘 + 𝐸𝑝 𝐸𝑘 =
1

2
𝑚𝑣2   Ep = m.g.h   

 

𝑝 =
𝐹

𝑆
  ph=h.ρ.g 𝐹𝑡𝑙𝑎𝑘𝑜𝑣á = S.h.ρ.g 

𝐺 = 𝑚. 𝑔 = 𝑉𝑡 . 𝜌𝑡 . 𝑔    𝐹𝑣𝑧𝑡𝑙𝑎𝑘𝑜𝑣á = 𝑉𝑡 . 𝜌𝑡 . 𝑔   

𝐺´ = 𝐺 − 𝐹𝑣𝑧   𝐺 = 𝐹𝑣𝑧 

𝑄𝑣 =
𝑉

𝑡
= 𝑆. 𝑣   𝑄𝑚 =

𝑚

𝑡
= 𝑆. 𝑣. 𝜌 

𝑆1. 𝑣1 = 𝑆2. 𝑣2  
1

2
𝜌𝑣1

2 + 𝑝1 + 𝜌𝑔ℎ1 =
1

2
𝜌𝑣2

2 + 𝑝2 + 𝜌𝑔ℎ2 

𝜎𝑛 =
𝐹

𝑆
  𝜎𝑛 = 𝐸. 𝜀  𝜎𝑛 =

𝛥𝑙

𝑙0
 

 p.V = N.k.T             p.V = n.R.T                      p.V = 
𝑚

𝑀
𝑅. 𝑇 

𝑝1.𝑉1

𝑇1
=

𝑝2.𝑉2

𝑇2
  𝑇 = ({𝑡} + 273,15) K 𝑀 = {𝑀𝑟}. 10−3 

𝜌 =
𝑚

𝑉
 𝑛 =

𝑚

𝑀
 𝑁𝑉 =

𝑁

𝑉
 

𝑄 = 𝑚. 𝑐. 𝛥𝑡 ∑ 𝑄 = 0 Lt = m . lt  
 

𝛥𝑈 = 𝑊 + 𝑄               W=p. ΔV  
 

𝜔⃗⃗⃗ =
𝛥𝜑⃗⃗⃗

𝛥𝑡
 𝜀 =

𝛥𝜔⃗⃗⃗⃗

𝛥𝑡
 𝑎 = √𝑎𝑡

2 + 𝑎𝑛
2   𝑎𝑡 =

𝑑𝑣

𝑑𝑡
 𝑎𝑛 =

𝑣2

𝑅
 

𝑀⃗⃗⃗ = 𝑟𝑥𝐹⃗  𝐿⃗⃗ = 𝑟𝑥𝑚. 𝑣⃗  𝑀⃗⃗⃗ =
𝑑𝐿⃗⃗

𝑑𝑡
    𝐸𝑘𝑟 =

1

2
𝐽. 𝜔2 

 

𝑖 = −𝐷
𝑑𝑐

𝑑𝑥
  𝑐𝑠𝑡𝑟 =

∆𝑁

∆𝑉
  F = 6π.r.η.v   𝐹 = 𝜂. 𝑆

𝑑𝑣

𝑑𝑥
 

 

𝑄 = −𝜆. 𝑆
𝑇2−𝑇1

𝑑
𝜏  𝑞 =

𝑄

𝑆.𝜏
 Δl= l0.α.Δt    ΔV=V0.β. Δt 

 
g = 9,81 m.s-2(10  m.s-2), R = 8,31 J.K-1.mol-1, k = 1,38.10-23 J.K-1 


